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1 kH HAE AN/ RLBRIRAE H2 3/ 3 1:16.52 36.10 9% ( 0.78)
2 TjE % J S STEH 1 3/ 5 1:17.65 36.33 9k ( 0.74)
3 Wl EHE JSSERR 3 3/ 4 1:18.30 36.26  8#% ( 0.70)
4 RH B Ty NI 1 3/ 7 1:19.13 36.77  8fk ( 0.68)
5 )I1A  LBE J S SER 3 3/ 6 1:19.29 36.42 8k ( 0.67)
6 IR EHH SAY—F 13 3/ 2 1:22.03 38.29  6#% ( 0.79)
7 dbED A Aa=bayn’ ASS Hl 2/ 4 1:22.27 38.78 8k ( 0.64)
8 fexa REZE J S S{EH 1 3/ 1 1:25. 31 39.84 6%k ( 0.69)
9 M = FIES C 3 3/ 8 1:27.43 40.36 5%k ( 0.74)
10 ¥Ew] 7= JSSERR 1 2/ 5 1:28. 87 40.82 6% ( 0.83)
11 & B Z i p F4E il 2/ 3 1:30.96 42.66 5% ( 0.72)
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